EE 380 Control Engineering - I, Quiz# 1
Form-A

Name: zk(’ ¢ / Student Number:

Question-1 (2 marks): Write the transfer functions of the systems below. If it is not possible to do that, explain why,
a, b, and c are constants:
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Question-2 (2 marks): write down the answers of the following expressions:

Expression Answer
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Where * denotes convolution and - denotes multiplication.

Question-3 (2 marks): write down the partial fraction expansion of the following rational function:
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Question-4 (2 marks):A system has the transfer function H(S)=1/S. If the signal: S(t)=sin(4mt)+cos(67t) is used as
an input, write down the output signal. . . L _
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Question-5 (2 marks): Draw the spectrum of the signal: S(t)=cos(4mt)+sin(67t)

:;t’("’{i/i(\ e (A ’S((«)) '
\
jT-L -2 N
A7 TR
/«;"‘/c\)
T ———
o
X
-—2)7(— -7 ‘»i 770
® s N S »
i A
; k74
-
R




EE 380 Control Engineering - I, Quiz# 1
Form-B

Name: /‘t:é‘ / Student Number:

Question-1 (2 marks): Write the transfer functions of the systems below. If it is not possible to do that, explain why,
a, b, and c are constants:
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Question-2 (2 marks): write down the answefs of the following expressions:
Expression Answer
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Where * denotes convolution and - denotes multiplication.

Question-3 (2 marks): write down the partial fraction expansion of the following rational function:
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Question-4 (2 marks):A system has the transfer function H(S)=1/S. If the signal: S(t)=cos(4mt)+sin(67t) is used as
an input, write down the output signal.
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Question-5 (2 marks): Draw the spectrum of the signal: S(t)=sin(41mt)+cos(6mt)
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